Ajustar las siguientes reacciones quimicas por el método idn-electron:

a) KMnO; + HCl < MnCl, + KCI + Cl, + H,O
Sol.: 2KMnO, + 16HCI < 2MnCl, + 2KCI + 5Cl, + 8H,0

b) Cr2(804)3 + KCIO3 + KOH < K,CrO4 + KCI + K,SO,4 + H,0
Sol.: Cry(SOy)3 + KCIO; + 10KOH < 2K,CrO,4 + KCI + 3K;S0O, + 5H,0

C) K>Cr,07 + HI + HCIO; & KCIO, + CI’(C|O4)3 + 1, + H,O
Sol.: K,Cr,07 + 6HI + 8HCIO, < 2KCIO, + 2Cr(ClOy4);3 + 3l + 7TH,0

d) Sn + HNO; < SnO, + NO, + H,0
Sol.: Sn + 4HNO3z < SnO, + 4NO, + 2H,0

e) KCIO3 + H,SO4 & K>SO, + ClIO; + O, + HO
Sol.: 4KCIO; + 2H,S0,4 < 2K,S0O, + 4CIO, + O, + 2H,0

f) FeSO,4 + KMnO,4 + H,SO, & Fez(SO4)3 + MnSQO,; + K,SO, + H,0O
Sol.: 10FeSO, + 2KMnO, + 8H,S0, 5F82(SO4)3 + 2MnSQO, + K,SO, + 8H,0

g) KMnO4 + H,O, + H,SO, < MnSO,4 + K,SO4 + O, + HO
Sol.: 2KMnO4 + 5H202 + 3HzSO4 E = 2Mn804 + KzSO4 + 502 + 8H20

h) KNO3; + Zn + H,SO, & (N H4)2804 + K,SO4 + ZnS0O4 + H,0
Sol.: 2KNO; + 4Zn + 6H,S0, < (NH,),S0,4 + K,SO4 + 4ZnS0O,4 + 6H,0

i) KlIOs;+ Al+HCl < 1, + AlCI; + KCI + H,0
Sol.: 6KI0; + 10Al + 36HCI < 31, + 10AICI; + 6KCI + 18H,0

j) K>Cr,0O7 + Nal + H,SO4 < Na,SO,4 + Crz(SO4)3 + 15
Sol.: K,Cr,0; + 6Nal + 7H,SO, < 3Na,SO, + Cr2(804)3 + 31, + K,SO,
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